LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: T263

No ApTUKYN HanmeHoBaHue K-Bo No ApTUKYN HanmeHoBaHue K-80
1 03010110007 BuHT M5X12 1 34 03040010008 LWari6a 4 2
2 70030030695 KpbiWwKa umanHapa 1 35 02070010048 LLlalt6a marHeto 2
3 03020020055 BuHT M4X12 1 36 02050030124 Marreto 1
4 03010010062 Bont M5X20 4 37 03020020054 Bont M4X20 2
5 70070130032 Unnnnap 1 38 02050050213 MpoBoOA BbIKAOYEHMA 3aXKMUTAHUA 1
6 L7T Cseua 1 39 02080020012 3arnywka 1
7 02070010032 MpoKnagka umMamHgpa 1 40 02070010162 MpoKknagka rywutens 1
8 02020020003 Konbuo nopwHesoe 2 41 02050010015 Fnywwutens 1
9 02010020005 MopuweHb 1 42 03040020020 LWarb6a 5 2
10 02020150002 LLaiba nanbua nopLiHa 2 43 03050010015 LWanba 5 2
11 02020010004 Manew nopwHa 1 44 03010010051 bont rnywuntena M5X55 2
12 02020030017 Konbuo ctonopHoe nanbua 2 45 02070010019 MpoKknagka noa TenomM3onAaTop 1
13 03090020018 MoAWnNHMK NanbLa NOPLLHA 1 46 70030020016 Tennousonatop 1
14 02020120090 Konensan 1 47 03020020012 BuHT M5X20 6
15 03090010028 MoAwnnHMK KoneHsana 2 48 02070010071 Mpoknazka nog Kapbtopatop 1
16 03100010009 CanbHWK KoneHsana 1x22x7 2 49 02050020101 KapbtopaTtop 1




LaampPron

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: T263
17 03060010002 LWtmoT B3X10 4 50 70080120007 Onopa Bo3ayLHOro GuabTpa 1
18 70070050038 KapTep, cTopoHa cTapTepa 1 51 03020010012 BuHT M5X16 GB9074.3 2
19 02050100015 MnaTta cobayekK cTapTepa 1 52 02020160564 3awmTa TonIMBHOro b6aka 1
20 02050070009 Craptep B c6ope 1 53 03020020053 BuHT M5X12 1
21 03020020029 BuHT M4X16 5 54 03020020044 BuHT M5X55 2
22 16264157/ LLInoHKa maxoBuka 3x3,5x10 1 55 02090010011 ®PunbTp BO3AYLWHbIN 1
03070010001
23 16261133/ MpoKnagkKa KapTepa 1 56 070030040123 KpbiwKa BO34yLWHOro ¢punbTpa 1
02070010119
24 70070050039 Kaptep, cTopoHa maxoBuKa 1 57 02110030079 BonT KpenneHua KpblwKn GpunbTpa 1
25 03010010058 BuHT M5X25 4 58 02110020026 Mpobka TonaneHoro 6aka 1
26 02050030018 MaxoBsuK 1 5 | - LLnaHr TonAnBHbIN 1
27 03030020003 Malika maxoBuka M8X1 1 60 | - LnaHr nparimepa 1
28 03040050052 LWarba 6X15X1.2 2 61 02050120002 ®unbTp TONAMBHBIN 1
29 02050160002 Cuennenue 1 62 70050030089 baK TonAMBHbIN 1
30 03040050042 LWaiba 6onTa cuenneHun 2 63 03040050022 LWaib6a 5 1
31 02020130001 bonT cuennexHns 2 64 16264109K/ MopweHb KOMNAEKT 1
70080120195

32 80010020078 KpblwWwKa cuennexma 1 65 02060050026 MNopwHeBas rpynna 1
33 70030030164 MnaTa KapTepa 1




LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: T263

@,’32
@/33
"~
34 35/

Ne ApTUKYN HaumeHoBaHue K-so | Ne ApTUKYA HaumeHoBaHue K-so
1 61270030006 Pepyktop 1 44 70030070164 PykoaTKka npaBaa nosoBMHa 1
2 03120020002 Konbuo ctonopHoe 26 1 45 02080020053 060/104Ka PYKOATKM 1
3 03120010001 Konbuo 10 1 46 70030180090 XomyT 1
4 03090010015 MogwmnHuuk 6000-2RS/P5 2 47 03010010062 Bont M5x20 2
5 02020090063 Ban-wecTepHs 1 48 16261253/ Bbik/touatens ¢ nposogamu 1
02050050298
6 03020030014 BuHT M5x25 1 49 70030070047 Bunka 1
7 03020030021 Bont M6x12 2 50 02020110039 Mpy*KunHa 1
8 80010040019 Kopnyc peayktopa 1 51 02020110041 MpyKnHa 1
9 02020160080 Yalka orpaHuumntens 1 52 70030070434 MpenoxpaHuTenb Kypka rasa 1
10 03020020018 BuHT M5x10 3 53 02020110040 Mpy*xunHa 1
11 03090010013 MNoawwnnHmk 6000/P5 1 54 70030070433 Kypok rasa 1
12 02020090012 LectepHsa 1 55 02050040045 Tpoc rasa 1
13 02020090029 Ban BbIXoAHOW pegyKTopa 1 56 03010010046 Bont M5x30 1
14 03090010058 MNoawmnnHmk 6002-2RS/P5 1 57 70030070216 PykoaTka nesana nonosmHa 1
15 03120020001 Konbuo ctonopHoe 32 1 58 70070090016 MydTa coegnHuTenbHan 1
16 02020100020 LWaliba peaykTopa A 1 59 01040030001 060104Ka Tpoca rasa 1
17 | 02020100012 LWait6a Hoxa B 1 60 | 16233248/ PYKOSATKa KOMNAEKT 1
61270090004

18 | 03040050014 LWar6a 10 1 61 03010010048 Bont M5x35 4
19 | 03030010008 Maiika nesas M10x1.25 1 62 70030160079 PykosaTka 1
20 03060020004 WnanHT 2x16 2 63 70030160031 HUXKHAA YacTb PYKOATKMU

21 61270020030 bapabaH cuenneHnsa KOMNAEKT ¢ 1 64 02020060036 Ban npuBoAHOI BepXHAA NONOBUHA 1

Kopnycom

846 mm




LaampPron

Power & force NnntocTpmpoBaHHbIN KaTanor 3anacHbIX YacTen Mogenb: T263
22 | 02020050040 BapabaH cLenneHus 1 65 | 02010010072 LiTaHra sepxHAs nonoBuHa 1
26x1,5x778 mm
23 03120020004 Konbuo cronopHoe 35 1 66 02020160293 MNepexoaHWK Banos 1
24 | 03090010012 MopwmnnHuk 6202-2RS/P5 2 67 03040050047 LWarba 10 1
25 03120010005 Konbuo 15 1 68 C5074 TpMmmepHas ronoska 1
26 80010030086 Kopnyc cuenneHns 1 69 03030010013 Malika M5 2
27 02080020069 Bubpom30naTop WTaHm 1 70 03010010056 bont M5x14 2
28 03010010058 BuHT M5x25 2 71 70030030962 KpoHLITeNH KpenneHma Koxyxa 1
29 | 80010050068 Ckoba B 1 72 03010010062 Bont M5x20 2
30 80010050049 Ckoba A 1 73 61270070012/ Ko»KyX 3alUTHbBIN KOMNNEKT 1
61270070072
31 03010010060 Bont M6x20 4 74 70030030691 KoKyX 3aLUTHBIN 1
32 70030180133 MNeTna ana KkpenaeHns pemHa 1 75 02010030001 MpoKknagkKka 2
33 70030160007 XomyT 1 76 70030180089 BonT coeguHuTENbHOU MYPTDI 1
34 | 03040030002 LWarba 5 1 77 03010110132 Bont M6x35 1
35 | 03010060053 BuHT 5%20 1 78 03010110124 BuHT 5x20 4
36 02010010095 LLITaHra HUXKHAA NONOBUHA 1 79 03010040027 BuHT 4,2x16 1
26x1,5x718
37 02020060034 Ban npuBogHOM HUKHAA 1 80 70030030056 PapTyK KOXKyxa 1
38 | 02040010003 Btynka Bana 8x14x14 6 81 03010040025 BuHT 4,2x13 2
39 02080020006 YnnoTHeHWe BTY/IKM Bana 6 82 02020070037 HoX 3alMTHOrO KOXKyxa 1
40 61270040031/ PyKoATKa ynpaBaeHUsa KOMNJIEKT 1 83 02110030022 XomyT 1
61270040026
41 03010010056 bont M5x14 2 84 C4003 PemeHb HanneyHbIn 1
42 | 02020160213 XomyT 1 85 02060040165 Hox gna Tpasbl 1
43 | 03030080002 Favika M5 3 86 03060030005 ®ukcatop mydTbI 1




